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1 atm= 105Pa).  1000Hz,

 343m/s   1.21kg/m3;
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= 1.1 × 10 m = 11 m

2.8 × 10 Pa,
= 1.1 × 10 m = 11pm
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17.6: Intensity and Sound Level

Consider a thin slice of air of
thickness dx, area A, and mass dm,
oscillating back and forth as the
sound wave passes through it.
The kinetic energy dK of the slice
of air is

But,

Therefore,

And,

Then the average rate at which
kinetic energy is transported is

If the potential energy is carried along with
the wave at this same average rate, then the
wave intensity I, the average rate per unit
area at which energy of both kinds is
transmitted by the wave, is
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10-5m  10-11m.

.
: (10 )log , DB: decibel

= 10 W/m

= = 0

= 10 W/m = 10
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 « »  D. Y
 B  C (AB=BD, BC=CD). H AD

 ~37cm.  ~340m/s.

(a)
(b)  C 
(c)
(d)  B  C

.

(a) = = 37 .

= 2 = 74 = = 446 z

b)  18.5cm (
) = 2AB = 37 = = 892 z

c) = 2 C = 2 18.5 + . cm = 55.5cm f = = 612 z

d) (c).
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